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QUESTION 1

For testing purposes, your customer decides to use FC on a single-node ONTAP cluster. There is only one host that the
customer expects to use. High availability is not a concern for this test. The customer connects the host directly to the
ONTAP node. The LUN is set up, and the igroup is configured. When the customer tries to attach to the LUN from the
host, the LUN is not seen by the host.

Which statement is correct in this scenario?

A. Multipathing must be used and connected to another FC path.

B. NPV must be enabled on the host before trying to attach to the LUN.

C. NPIV must be enabled on the host before trying to attach to the LUN.

D. An FC switch must be used with ONTAP.

Correct Answer: B Section: (none)

QUESTION 2

You received the "CLUSTER ERROR: DISK/SHELF COUNT MISMATCH" AutoSupport message from an ONTAP
cluster.

When analyzing this message, which two should be inspected? (Choose two.)
A. drive paths

B. IOM firmware

C. drive firmware

D. SAS cabling

Correct Answer: AC Section: (none)

QUESTION 3

Which NetApp technology enables a volume to span across one or more aggregates and one or more NetApp nodes?
A. FlexVol

B. Flash Pool

C. Flash Cache

D. FlexGroup

Correct Answer: D Section: (none)

Reference: https://www.netapp.com/pdf.html?item=/media/17251-tr457 1lapdf.pdf (3)
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QUESTION 4

You are asked to replicate 15 of 20 volumes and the network configuration of your storage virtual machine to your other
data center.

In this scenario, which NetApp technology should you use?
A. SnapMirror Synchronous

B. SVM DR

C. MetroCluster

D. SVM peering

Correct Answer: A Section: (none)

Reference: https://www.netapp.com/pdf.html?item=/media/19369-tr-4832.pdf

QUESTION 5

A disaster causes a FlexGroup volume to be unrecoverable, but it was protected by a SnapMirror relationship. You
solve the issue, and the source is operational. Now, you want to return to serving the data from the original source.

In this scenario, what do you do next?
A. Initialize the SnapMirror relationship.
B. Restore data from a backup copy.
C. Perform a SnapMirror update.

D. Delete the SnapMirror relationship.
Correct Answer: A Section: (none)

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-fg-
mgmt%2FGUID576192B0-18B8-40D3-AA3E-FC34415DCA4F7.html
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